CJ' doubtnut

India's Number 1 Education App

MATHS

BOOKS - RD SHARMA MATHS (ENGLISH)
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1. Find the median of the following data: class : 0 — 10, equency: 5,
10 — 20, 3,20 — 30, 4, 30 — 40, 3,40 — 50, 3, 50-60 , 4,60-70 , 7, 70-80,9

, 8090, 7, 90-100, 8,

° Watch Video Solution

2. Find the mean of the following frequency distribution, using step-

deviation method: Class 0-10 10-20 20-30 30-
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40 40-50 Frequency 7 12 13

10 8

° Watch Video Solution

3.1f cos @ + sinf = /2 cos B, show that cos§ — sinf = /2siné

° Watch Video Solution

1

4. Prove that § — sinf 0 —cost) = ————
rove that (cos ec sin @) (sec cos 0) tan -+ cot @

° Watch Video Solution

5.Let A = {¢{o}, 1, {1, ¢}, 2}. Determine which of the following is true

or false. (a). €A (b).2cA (c){2,{1}}cA

° Watch Video Solution
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6.In Figure, AB | BC, FG 1 BC and DE 1 AC. Provet A ADE~G

CF

o Watch Video Solution

2
7. Prove that is irrational.

° Watch Video Solution

8. Show that any positive odd integer is of the form 4¢g + 1 or 4q + 3,

where q is some integer.

° Watch Video Solution

9. If a, 8 are zeroes of the polynomial z? — 2z — 15, then form a

quadratic polynomial whose zeroes are (2a)) and (25).

° Watch Video Solution
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10. A person can row a boat at the rate of 5 km/hour in still water. He
takes thrice as much time in going 40 km upstream as in going 40 km

downstream. Find the speed of the stream.

o Watch Video Solution

11. Check graphically whether the pair of linear equation 4 —y — 8 =0
and 2z = 3y — 6 = 0 is consistent. Also, find the vertices of the triangle

formed by these lines with the x-axis.

o Watch Video Solution

1
122 In Figure, AD 1 BC and BD:§C’D- Prove  that

2CA? = 2AB? + BC?

o Watch Video Solution
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13. Find the mode of the following distribution of marks obtained by 80

students: Marks obtained 0-10 10-20 20-30 30-
40 40-50 No. of students 6 10
12 32 20

o Watch Video Solution

12
14.In Fig., AD = 4cm , BD = 3cm and CB = 12c¢m , find cot 6 . (a)?

b 5 13d 12
()E(c)ﬁ( )1—3(

o Watch Video Solution

147
15. The decimal expension of 120 will terminate after how many places of

decimal? 1 (b) 2 (c) 3 (d) will not terminate

o Watch Video Solution
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16. The pair of linear equations 3z + 2y = 5; 22 — 3y = 7 have (a)One

solution (b) Two solutions (c)Many solutions (d) No solution

° Watch Video Solution

17. For a given data with 70 observations the less then ogive and the
more than ogive intersect at (20. 5, 35). The median of the data is

(a)20

(b) 35

(c) 70

(d) 20.5

° Watch Video Solution

18. Can (x — 2) be the remainder on division of a polynomial p(x) by

(22 + 3) 7 Justify your answer.

° Watch Video Solution
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19.1n Figure, ABCD is a rectangle. Find the values of zandy.

o Watch Video Solution

1
20.1f 7sin® @ + 3cos? O = 4, show that tanf = —
V3

° Watch Video Solution

. EF EC
21.In Figure, DE | | AC and DF | | AE .Prove that BF - BE -

° Watch Video Solution

22.In Figure, If DE| | BC, then z equals.(a)6cm (b) 8cm (c) 10cm (d) 12.5

° Watch Video Solution
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23. In Figure, the graph of a polynomial p(x) is shown. The number of

zeroes of p(x) is (a)4 (b) 1(c) 2 (d) 3

° Watch Video Solution

24. If 35 is removed from the data: 30,34,35,36,37,38,39,40, then the

median increases by 2 (b) 1.5 (c) 1 (d) 0.5

° Watch Video Solution

25.1fu; = ———, Y fug =20, ) fi =100, thenz = 23 (b) 24 ()

27 (d) 25

° Watch Video Solution

26. The mean of 1,3,4,5,7,4 is m- The number 3, 2, 2,4, 3, 3, p have

mean m — 1 and median ¢- Then,p+q = 4 (b)5(c)6(d) 7

| e |
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I & Watch Video Solution

27. The mean of n observations is X . If the first item is increased by 1,

second by 2 and so on, then the new mean is (a) X + n (b) X + % (0)

n+1
X + —5 (d) None of these

° Watch Video Solution

n+1 n—1

28. The arithmetic mean of 1, 2, 3, ...n is (a)

n
—+1
2+

° Watch Video Solution

29. During the medical check-up of 35 students of a class, their weights
were recorded as follows: Draw a less than type ogive for the given data.
Hence obtain the median weight from the graph and verify the result by
using the formula. weight (in kg)=38-40 40-42 42-44 44-46 46-48 48-50 50-

52 No. of students=324514 4 3
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° Watch Video Solution

, 1 cos e’ — sec’ 6
30. Given that tanf = —— the value of is —1(b) 1 (c)
cos ec26 + sec? 0
1 1

33

I

° Watch Video Solution

31. If sin30 = cos(f — 6°), where (30)and(0 —6°) are both acute

angles, then the value of 8 is (a)180 (b) 24° (o) 36° (d) 30°

° Watch Video Solution

32. For the following grouped frequency distribution find the mode:
Class: 3-6,6-9,9-12 , 12-15 ,15-18 , 18-21, 21-24 Frequency: 2,5,10, 23, 21,

12,3

° Watch Video Solution
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33. Compute the value of mode for the following frequency distribution.
Class: 100-110 110-120 120-130 130-140 140-150 150-160 160-170

Frequency 4 6 20 32 33 8 2

° Watch Video Solution

34. Find the value of z, if the mode of the following data is 25:

15,20,25,18,14,15,25,15,18,16,20,25,20,x ,18

° Watch Video Solution

35. Compute the mode for the following frequency distribution:

o Watch Video Solution

36. Draw a cumulative frequency curve and cumulative frequency polygon

for the following frequency distribution by less than method. Age (in
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yrs). 0-9 10-19 20-29 30-39 40-49 50-59 60-69

No. of Person 5 15 20 23 17 1 9

° Watch Video Solution

37. Calculate the value of mode for the following frequency distribution:
Class: 14 5-8 912 13-16 17-20 21-24 25-28 29-32 33-
26 37-40 Frequency: 2 5 8 9 12 14 14

15 11 13

° Watch Video Solution

38. Find the median of the following data: CLASS ; 0-10 , 10-20 , 20-30 ,
30 — 40, 40 — 50, 50-60 , 60-70 , 70-80 , 80-90 , '90-100 FREQUENCY; 5 ;3 ,

4,3,3,4,7,9,7,8

° Watch Video Solution
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39. Following is the age distribution of a group of students. Draw the
cumulative frequency polygon, cumulative frequency curve (less than

type) and hence obtain the median value.

o Watch Video Solution

40.The following observations relate to the height of a group of persons.
Draw the two types of cumulative frequency polygons and cumulative
frequency curves and determine the median. Height in
cms Frequency 140-143 143-146 146-149 149-
152 152-155 155-158 158-161 161-164 164-167 167-170 170-173 173-176 176-179

179-182 3926314564 788596726043 206

o Watch Video Solution

41. If the mean of the following distribution is 54, find the value of p:

Class: 0-20 20-40 40-60 60-80 80-100 Frequency: 7 p 10 9 13

| o WMl L \ 2 dan C Al iklmn
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42, If 2cos@ —sinf =x and cos@ — 3sinf =y Prove that

2z + y? — 2zy = 5.

o Watch Video Solution

43. Find the mean marks of the students from the following cumulative
frequency distribution: Marks: Below Below Below Below Below Below
Below Below Below Below 10 20 30 40 50 60 70 80 90 100 No. of Students

5917 2945607078 83 85

o Watch Video Solution

44. Find the mean marks of students from the following cumulative
frequency distribution: marks No. of Students
Marks No. of Students O and above, 10 and above, 20 and

above, 30 and above, 40 and above, 50 and above, 60 and above, 70 and
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above, 80 and above, 90 and above, 100 and above, 80, 77, 72, 65, 55, 43,

28,16,10,8,0

° Watch Video Solution

45.The number of students absent in a school was recorded every day for

147 days and the raw data was presented in the form of the following

frequency table. No. of Student absent: 5 6 7 8 9 10
1 12 13 15 18 20 No.ofdays 1 5 1 14 16 13
10 70 4 1 1 1 Obtain the median and describe what

information it conveys.

° Watch Video Solution

46. Classes: 25-29 30-34 35-39 40-44 4549 50-54 55-59
Frequency: 14 22 16 6 5 3 4 Find the

mean for given data.

° Watch Video Solution
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47. Compute the median from the following data: Mid-value: 115

125 135 145 155 165 175 185 195
Frequency: 6 25 48 72 116 60 38
22 3

° Watch Video Solution

48. Find the median of the following frequency distribution: Weekly

wages (in Rs.) 60-69 70-79 80-89 90-99 100-
109 110-119 No. of days: 5 15 20 30
20 8

° Watch Video Solution

49. If the median of the following frequency distribution is 46, find the

missing frequencies. Variable: 10-20 20-30 30-40 40-50 50-
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60 60-70 70-80 Total Frequency: 12 30

? 65 ? 25 18 230

° Watch Video Solution

50. Calculate the median from the following data:Marks: 0-
10 10-30 30-60 60-80 80-90°
No. of Students 5 15 30 8 2

° Watch Video Solution

51. Find the mode of the following data:

25,16,19,48,19,20,34,15,19,20,21,24,19,16,22,16,18,20,16,19

° Watch Video Solution

52. Compute the median for the following cumulative frequency

distribution: less than 20 Less than 30 4 Less than 40 16 Less than 50
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30 Less than 60 46 Less than 70 66 Less than 80 82 Less than 90 92

Less than 100 100

° Watch Video Solution

53. In Figure, ABC is right angled at B ,BC = 7cm and

AC — AB = 1lcm . Find the value of cos A — sin A.

° Watch Video Solution

54. In Figure, Pand(@ are the midpoints of the sides C'AandCB
respectively of ABC right angled at C. Prove that

4(AQ* + BP?) = 5AB.

° Watch Video Solution

55.The diagonals of a trapezium ABCD with AB||DC intersect each other at

point O. If AB = 2CD, find the ratio of the areas of triangle AOB and COD.
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| ° Watch Video Solution

56. The mean of the following frequency distribution is 50. Find the value

of p. Classes 0-20 20-40 40-60 60-80 80-100 Frequency 17 28 32 p 19

° Watch Video Solution

57. If sec4A = cosec(A — 20°) , where 4A is an acute angle, find the

value of A.

° Watch Video Solution

AQ AR

58.In Figure PQ | | CDand PR | | CB. Provew = =B

o Watch Video Solution
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59. In Figure, two triangles ABC and DBC are on the same base BC' in
which ZA = 2ZD = 90°. If CA and BD meet each other at E, show that

AExCE = BExzDE.

° Watch Video Solution

60. Find the mode of the following data: Class Frequency 0-

20 15 20-40 6 40-60 18 60-80 10

° Watch Video Solution

61. Prove that in a triangle if the square of one side is equal to the sum of
the squares of the other two side then the angle opposite to the first

side is a right angle.

° Watch Video Solution
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62.If a line is drawn to one side of a triangle to intersect the other two
sides in distinct points, prove that the other two sides are divided in the

same ratio.

° Watch Video Solution

tan@ cot 0

=1 6 0
1—c01;«9+ 1 —tan6 T seccosec

63. Prove that:

° Watch Video Solution

64. Without using trigonometric tables, evaluate the following:

sec 37°

+ 2cot 15%cot 25%cot 45%¢cot 75° cot 65° (sin2 18° + sin? 720)
cos ecb3

o Watch Video Solution

65. Find the mode of the following distribution of marks obtained by 80

students: Marks obtained 0-10 10-20 20-30 3040 40-50


https://dl.doubtnut.com/l/_NUO0UaPATCX8
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No. of students 6 10 12 32 20

° Watch Video Solution

66. Divide 30z* + 112° — 82z® — 12z + 48 by (3z” + 2z — 4) and verify

the result by division algorithm.

° Watch Video Solution

67. For what value of k will the following system of linear equations have

infinite number of solution :-2x + 3y =2, (k + 2)x + (2k + 1)y = 2(k - 1)

° Watch Video Solution

68. Draw a cumulative frequency curve and cumulative frequency polygon
for the following frequency distribution by less than method. Age (in yrs).

0-9 10-19 20-29 30-39 40-49 50-59 60-69 No. of Person 515202317119

° Watch Video Solution
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69. The following table gives weekly wages in rupees of workers in a
certain commercial organization. The frequency of class 49-52 is missing.

It is known that the mean of the frequency distribution is 47.2. Find the

missing frequency. Weekly wages (Rs.) 40-43 43-
46  46-49 49-52  52-55 No. of workers: 31
58 60 ? 27

o Watch Video Solution

70. The mean of the following frequency table 50. But the frequencies
fiandfs in class 20 — 40and60 — 80 are missing. Find the missing
frequencies. Class: 0-20 20-40 40-60 60-80 80-100 Total Frequency: 17 f;

32 f,19120

o Watch Video Solution
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71. Find the mean of the following frequency distribution:

Classes: 0-20 20-40 40-60 60-
80 80-100 Frequency: 15 18
21 29 17

o Watch Video Solution

72. The following table gives the distribution of total household

expenditure (in rupees) of manual workers in a city. Expenditure: (in

Rs.) 100-150 150-200 200-250 250-
300 300-350 350-400 400-450 450-500
Frequency: 24 40 33 28 30

22 16 7 Find the average expenditure (in Rs.) per household.

o Watch Video Solution

73. A frequency distribution of the life times of 400 T.V. picture tubes

tested in a tube company is given below. Find the average life of tube. Life


https://dl.doubtnut.com/l/_PAZ6dQ0hFQdc
https://dl.doubtnut.com/l/_SxPORPwbeuMi
https://dl.doubtnut.com/l/_VcdQ52exTPE2

Time (in hrs) Frequency Life time (in
hrs) Frequency 300-399 400-499 500-599 600-699 700-

799 14 46 58 76 68 800-899 900-999 1000-1099 1100-1199 62 48 22 6

° Watch Video Solution

74. If the mean of the following distributions 54, find the value of p:

Class: 0-20 20-40 40-60 60-80 80-100 Frequency: 7 p 10 9 13

° Watch Video Solution

75. Apply step-deviation method to find the AM of the following
frequency distribution Variate(x) 510 15 20 25 30 35 40 45 50 Frequency(f)

20437567724539986

° Watch Video Solution



https://dl.doubtnut.com/l/_VcdQ52exTPE2
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76. The weights in kilograms of 60 workers in a factory are given in the
following frequency table. Find the mean weight of a worker. Weight (in

kg) x: 60 61 62 63 64 65 No. of workers f: 5814 16 10 7

o Watch Video Solution

77. The table below gives the distribution of villages under different

heights from sea level in a certain region. Compute the mean height of

the region: Height (in metres) 200 600 1000 1400
1800 2200 No. of village: 142 265 560
271 89 16

o Watch Video Solution

78.Find the mean of the following frequency distribution: Class-interval:
0-10 10-20 20-30 30-40 40-50 No. of
workers f: 7 10 15 8

10


https://dl.doubtnut.com/l/_tRYeOkslr8hb
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° Watch Video Solution

79. In an isosceles triangle ABC with AB = AC and BD 1 AC. Prove

that BD? — CD? = 2CDAD.

° Watch Video Solution

80. If the pair of linear equations (3k+ 1)z +3y—2=0 and

(k2 + l)m + (k — 2)y — 5 = O inconsistent, The value of k is

° Watch Video Solution

81. Draw the graphs of following equations: 2z — y = landx + 2y = 13
find the solution of the equations from the graph. shade the triangular

region formed by the lines .

° Watch Video Solution
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82.The following table gives the production yield per hectare of wheat of
100 farms of a village. Change the given distribution to more than type

distribution and draw its ogive

° Watch Video Solution

83. Evaluate:
sec 6 cos ec(900 — 9) — tan#6 cot (900 — 9) + sin? 55° + sin® 35°
tan 10%an 20°tan 60°tan 70°tan 80°

° Watch Video Solution

3
[S%]
|
—_

84.If secf + tan @ = p, prove that sinf =

iS;
[N
+
—

o Watch Video Solution

85. Prove that in a triangle, if the square of one side is equal to the sum

of the squares of the other two sides, then the angles opposite to the
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first side is a right angle.

° Watch Video Solution

secl + tanf — 1 cos 0
86. Prove that : = -
tan@ — secf + 1 1 —sinf

° Watch Video Solution

87.Find all zeros of the polynomial 2z* + 72® — 1922 — 14z + 30, if two

of its zeros are v/2and — /2.

° Watch Video Solution

88. Prove that the ratio of the areas of two similar triangles is equal to

the square of the ratio of their corresponding medians.

° Watch Video Solution
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https://dl.doubtnut.com/l/_Kwp9vqKIjnfC
https://dl.doubtnut.com/l/_knTnVm32QK79
https://dl.doubtnut.com/l/_11GZD9JzXwT8

89. What is the value of the median of the data using the graph in the

following figure of less than ogive and more than ogive? (FIGURE)

° Watch Video Solution

90. ABCandPQR are similar triangles such that / A=32° and ZR = 65°.

Then, is 83° (b) 32° (c) 65° (d) 97°

° Watch Video Solution

91. The value of p for which the polynomial 2% + 4% — pz + 8 is exactly

divisible by (z — 2) is 0 (b) 3 (c) 5(d) 16

° Watch Video Solution

92. Which of the following real numbers when simplified are either

terminating or rerepeating decimal ?


https://dl.doubtnut.com/l/_QLcEpzwpVEfD
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3 3
(A)m(%) cos (%) (B)log,(112)(C)log, 2log, 3 log, 4(D)27 ~'ozxs (5)

° Watch Video Solution

93. The value of [(secA +tanA)(1—sinA)] is equal to (a)

tan? A(b)sin2 A (c) cos A (d) sin A

° Watch Video Solution

94. If sin A + sin? A = 1, then the value of cos? A + cos* A is (a)2 (b) 1

(c)-2(d)o

° Watch Video Solution

95. The value of k for which the pair of linear equation
4z 4+ 6y — 1 = 0and2z + ky — 7= 0 represent parallel lines s

(@k=30)k=2(Qk=4(dk= —2

° Watch Video Solution
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96. The [HCF - LC M] for the numbers 50 and 20 is 10 (b) 100 (c) 1000

(d) 50

° Watch Video Solution

97.1n Figure, ABCD is a parallelogram. Find the values of zandy.

° Watch Video Solution

98. Find the quadratic polynomial with zeroes 3 + 1/2and3 — /2

° Watch Video Solution

99. Find the mean wage from the following data: Wage (in Rs.. 800820
860900920 9801000 No. of workers:7 14 19 25 20 10 5 By short cut

method



https://dl.doubtnut.com/l/_tLPHsjHU7HYQ
https://dl.doubtnut.com/l/_sdPCA9WDbhMX
https://dl.doubtnut.com/l/_bEWjJ9xarYle
https://dl.doubtnut.com/l/_nguOj2ql7cEf
https://dl.doubtnut.com/l/_chWaSaaKh1Hb

| Y Watch Video Solution J

100. Find the mean wage from the data given below: Wage (in Rs)
800 820 860 900 920 980 1000 No. of

workers: 7 14 19 25 20 10 5

° Watch Video Solution

101. Find the mean of the following distribution: x: 10
30 50 70 89 f: 7 8
10 15 10

° Watch Video Solution

102. Following table shows the weight of 12 students: Weight (in
kgs) 67 70 72

73 75 Number of Students: 4


https://dl.doubtnut.com/l/_chWaSaaKh1Hb
https://dl.doubtnut.com/l/_BNaV2SjG8uEN
https://dl.doubtnut.com/l/_6ioYzsuYF7NJ
https://dl.doubtnut.com/l/_xJdnXn811WJM

3 2 2 1 Find the mean

weight of the students.

° Watch Video Solution

103. Find the mean of the following distribution: x: 4
6 9 10 15 f: 5 10
10 7 8

° Watch Video Solution

104. Following table shows the weights of 12 students: Weight (in kgs): 67

70 72 73 75 No. of Students: 4 3 2 2 1 Find the mean weight.

° Watch Video Solution

105. Find the missing frequencies in the following frequency distribution

if it is known that the mean of the distribution is 1.46. No. of accident


https://dl.doubtnut.com/l/_xJdnXn811WJM
https://dl.doubtnut.com/l/_ylPzEtsRMZ4j
https://dl.doubtnut.com/l/_Km7ncLpe4pw8
https://dl.doubtnut.com/l/_o1Powp5syE3s

(x), o 1, 2, 3, 4, 5, Total Frequency is 200 and no. of days

(f: 46, 2?2, ?, 25, 10, 5

° Watch Video Solution

106. Find the value of p, the mean of the following distribution is 7.5 x: 3 5

791113f:6815p84

° Watch Video Solution

107. If the mean of the following distribution is 6, find the value of p

z: 2 4 6 10 p+5
f: 3231 2

° Watch Video Solution

108. Calculate the mean for the following distribution: z : 56789 f:4 8

14113

° Watch Video Solution



https://dl.doubtnut.com/l/_o1Powp5syE3s
https://dl.doubtnut.com/l/_bCI9myhaEBBs
https://dl.doubtnut.com/l/_7nHOpOgypjPL
https://dl.doubtnut.com/l/_uibYMQoQ7kYj

109. Find the mean of the following data: = : 19 2123 25272931 f: 13 15

1618161513

° Watch Video Solution

110. If the mean of the following data is 20.6. Find the value of p.xz : 10 15

p2535f:3102575

° Watch Video Solution

111. If the mean of the following datais 15,find p.x : 510152025 f:6p 6

105

° Watch Video Solution



https://dl.doubtnut.com/l/_uibYMQoQ7kYj
https://dl.doubtnut.com/l/_jdh1fxngMcOw
https://dl.doubtnut.com/l/_UudANLHGoNOT
https://dl.doubtnut.com/l/_rdgBIegF1OzP

112. Find the value of p for the following distribution whose mean is 16.6.

z:8,12, 15, p, 20, 25, 30 and #:12, 16, 20, 24, 16, 8, 4

° Watch Video Solution

113. Find the value of p for the following distribution whose mean is 12.58.

x:5,8,10,12,p,20,25and f:2,5,8,22,7,4,2

° Watch Video Solution

114. Find the value of p, the mean of the following distribution is 7.5 x: 3 5

791113f:6815p84

° Watch Video Solution

115. Find the value of p, if the mean of the following distribution is 20.

x:15,17,19, 20+p, 23 and f:2,3,4,5p, 6

| e |


https://dl.doubtnut.com/l/_38ZvjvJIThT4
https://dl.doubtnut.com/l/_02jKNhSIgsFV
https://dl.doubtnut.com/l/_Rw1Euu7l8L0q
https://dl.doubtnut.com/l/_panyXeppwiSV

l & Watch Video Solution J

116. The following table gives the number of boys of a particular age in a
class of 40 students. Calculate the mean age of the students Age (in
years): 15 16 17 18 19 20 No. of students: 3

8 10 10 5 4

° Watch Video Solution

117. Candidates of four schools appear in a mathematics test. The data

were as follows: Schools No. of Candidates Average Score
I 60 7511 48 80
11 Not available 551V 40 50

If the average score of the candidates of all the four schools is 66, find the

number of candidates that appeared from school Ill.

° Watch Video Solution



https://dl.doubtnut.com/l/_panyXeppwiSV
https://dl.doubtnut.com/l/_iB0fBjXVUei4
https://dl.doubtnut.com/l/_VL7YfWimd47h

118. Five coins were simultaneously tossed 1000 times and at each toss
the number of heads were observed. The number of tosses during which

0,1,2,3,4 and 5 heads were obtained are shown in the table below. Find

the mean number of heads per toss. No. of heads per toss No.
of tosses O 381

144 2 3423 287
4 164 5 25
Total 1000

o Watch Video Solution

119. Find the missing frequencies in the following frequency distribution if
it is known that the mean of the distribution is 50. 2 : 10 30 50 70 90 f :

17 f1 32 f, 19 Total 120.

o Watch Video Solution



https://dl.doubtnut.com/l/_YTU2OU7ROnQp
https://dl.doubtnut.com/l/_pCN7pcdNUuFq

120. The arithmetic mean of the following data is 14. Find the value of k x;

:510152025 f;: 7k 845

° Watch Video Solution

121. The arithmetic mean of the following data is 25, find the value of k .

x;:515253545 f;:3k362

° Watch Video Solution

122. If the mean of the following data is 18.75. Find the value of p . z; : 10

15p2530 f;:5107 82

° Watch Video Solution

123. The number of telephone calls received at an exchange per interval

for 250 successive one-minute intervals are given in the following


https://dl.doubtnut.com/l/_sh37iaQuNlRy
https://dl.doubtnut.com/l/_OkowH6sUlwTo
https://dl.doubtnut.com/l/_db2N2GxyaRY4
https://dl.doubtnut.com/l/_eGSya0Fe1PdC

frequency table: No. of calls (z) : 912 3 4 5 6 No. of intervals (f) : 1524

29 46 54 43 39 Compute the mean number of calls per interval.

o Watch Video Solution

124. Five coins were simultaneously tossed 1000 times, and at each toss
the number of heads was observed. The number of tosses during which O,
1,2, 3,4 and 5 heads were obtained are shown in the table below. Find the
mean number of heads per toss
mmmmmmmmmmmmmmmmmmmmmmmmmmmmm No. of heads per

toss (z) : 0123 4 5No.of tosses (f) : 38 144 342 287 164 25

o Watch Video Solution

125. The following table gives the number of branches and number of
plants in the garden of a school. No. of branches (z) : 23 4 5 6 No. of
plants (f) : 49 43 57 38 13 Calculate the average number of branches per

plant.

. l


https://dl.doubtnut.com/l/_eGSya0Fe1PdC
https://dl.doubtnut.com/l/_YfvEloKOFXAU
https://dl.doubtnut.com/l/_8GN6gBBW10H9

l @ yvatch video Solution ]

126. The following table gives the number of children of 150 families in a
village No. of children (z) : 012 3 4 5 No. of families (f) : 10215542157

Find the average number of children per family.

o Watch Video Solution

127. The marks obtained out of 50, by 102 students in a Physics test are
given in the frequency table below: Marks (z) : 1520 22 24 25 30 33 38 45

Frequency (f) : 581120 23 18 13 3 1 Find the average number of marks.

o Watch Video Solution

128. The number of students absent in a class were recorded every day for
120 days and the information is given in the following frequency table:
No. of students absent (2): 01234567 No.of days (f) : 14105034 15

4 2 Find the mean number of students absent per day.



https://dl.doubtnut.com/l/_8GN6gBBW10H9
https://dl.doubtnut.com/l/_8s88gx7q0gOG
https://dl.doubtnut.com/l/_7BORmRJMw2oc
https://dl.doubtnut.com/l/_IaGb8H0WmfsQ

| ° Watch Video Solution

129. In the first proof reading of a book containing 300 pages the
following distribution of misprints was obtained: No. of misprints per
page (z) : 0123 4 5 No. of pages (f) : 154 9536 9 5 1 Find the average

number of misprints per page.

° Watch Video Solution

130. The following distribution gives the number of accidents met by 160
workers in a factory during a month. No. of accidents (x) : 012 3 4 No. of
workers (f) : 70 52 34 3 1 Find the average number of accidents per

worker.

° Watch Video Solution

131. Find the mean from the following frequency distribution of marks at

a test in statistics: Marks (z) : 510 15 20 25 30 35 40 45 50 No. of


https://dl.doubtnut.com/l/_IaGb8H0WmfsQ
https://dl.doubtnut.com/l/_hqJbvdWIxzwb
https://dl.doubtnut.com/l/_hS5wvHjMUOtB
https://dl.doubtnut.com/l/_uKpMmtiki8Sg

students (f) : 15508076 724539986

o Watch Video Solution

132. The following table gives the distribution of total household
expenditure (in rupees) of manual workers in a city. Expenditure (in
rupees) (x;) Frequency (f;) 100-150 24 150-200 40 200-250 33 250-300 28
300-350 30 350-450 22 400-450 16 450-500 7 Find the average

expenditure (in rupees) per household.

o Watch Video Solution

133. A survey was conducted by a group of students as a part of their
environment awareness programme , in which they collected the
following data regarding the number of plants in 20 houses in a locality.
Find the mean number of plants per house. Number of plants: 0-2 2-
4 46 6-8 810 10-12 12-14 Number of houses: 1 2 1

5 6 2 3 Which method did you use for finding the mean,

and why?


https://dl.doubtnut.com/l/_uKpMmtiki8Sg
https://dl.doubtnut.com/l/_OvmA72aUDHNu
https://dl.doubtnut.com/l/_mtm3yneToDTF

o Watch Video Solution

134. Consider the following distribution of daily wages of 50 workers of a
factory. Daily wages (in Rs).: 100-120 120-140 140-160 160-180 180-200
Numberof w or kers: 12 14 8 6 10
Findthe mean daily wages of the workers of the factory by using an

appropriate method.

o Watch Video Solution

135. Thirty women were examined in a hospital by a doctor and the
number of heart beats per minute recorded and summarised as follows.
Find the mean heart beats per minute for these women, choosing a
suitable method. Heart beats (per min.) 65-68 6871 7174 74-77 77-
80 80-83 83-86 No. of women: 2 4 3 8 7

4 2

o Watch Video Solution



https://dl.doubtnut.com/l/_mtm3yneToDTF
https://dl.doubtnut.com/l/_p3vso1RybPpT
https://dl.doubtnut.com/l/_wxrMjovJjx7Q

136. Find the mean of the following frequency distributions: Class
interval: 0-6 6-12 12-18 18-24 24-30 Frequency: 6 8

10 9 7

° Watch Video Solution

137. Find the mean of the following frequency distributions: Class: 50-
70 7090 90-110 110-130 130-150 150-170 interval Frequency: 18

12 13 27 8 22

° Watch Video Solution

138. Find the mean of the following frequency distributions: Class
interval: 0-8 8-16 1624 24-32 32-40 Frequency: 6 7

10 8 9

° Watch Video Solution



https://dl.doubtnut.com/l/_WB9rTEqM0Evw
https://dl.doubtnut.com/l/_29RtFVNTO2PF
https://dl.doubtnut.com/l/_H43GXCmEakj0
https://dl.doubtnut.com/l/_AYmkK0brnFyB

139. Find the mean of the following frequency distributions: Class
interval:  0-6 6-12 12-18 18-24 24-30 Frequency:

7 5 10 12 6

° Watch Video Solution

140. Find the mean of the following frequency distributions: Class
interval: 0-10 10-20 20-30 30-40 40-50 Frequency: 9

12 15 10 14

° Watch Video Solution

141. Find the mean of the following frequency distributions:
Classinterval: 0 —8 8 —16 16 —24 24 — 32 32 — 40

Frequency: 5 9 10 8 8

° Watch Video Solution



https://dl.doubtnut.com/l/_AYmkK0brnFyB
https://dl.doubtnut.com/l/_uGmlkl4NFzkp
https://dl.doubtnut.com/l/_xxxZhwGkY2SB

142. Find the mean of the following frequency distributions:
Classinterval: 0 —8 8 —16 16 —24 24 — 32 32 — 40

Frequency: 5 6 4 3 2

° Watch Video Solution

143. Find the mean of the following frequency distributions:
Classinterval: 10 — 30 30 — 50 50 — 70 70 — 90 90 — 110 110 — 130

Frequency: 5 8 12 20 3 2

° Watch Video Solution

144. Find the mean of the following frequency distributions: Class
interval: 25-35 35-45 45-55 55-65 65-75 Frequency: 6

10 8 12 4

° Watch Video Solution



https://dl.doubtnut.com/l/_YYMMgbgtvx4M
https://dl.doubtnut.com/l/_FaTOkkfjVDpW
https://dl.doubtnut.com/l/_E1bgFDdAJp0g
https://dl.doubtnut.com/l/_XwCsaig1zEsv

145. For the following distribution, calculate the mean using all suitable
methods: Size of item: 1-4 4-9 9-16  16-27 Frequency: 6

12 26 20

o Watch Video Solution

146. The weekly observations on cost of living index in a certain city for

the year 2004-2005 are given below. Compute the weekly cost of living

index. Cost of living index Number of students 1400-
1500 5 1500-1600 10 1600-
1700 20 1700-1800 9 1800-
1900 6 1900-2000 2

o Watch Video Solution

147. The following table shows the marks scored by 140 students in an
examination of a certain paper: Marks: 010 10-20 20-30

30-40 40-50 No. of students: 20 24 40 36 20


https://dl.doubtnut.com/l/_XwCsaig1zEsv
https://dl.doubtnut.com/l/_VzJHbC0RHTeh
https://dl.doubtnut.com/l/_f9QuwhkrHq7O

Calculate the average marks by using the assumed mean deviation

method.

o Watch Video Solution

148. The mean of the following frequency distribution is 62.8 and the sum
of all the frequencies is 50. Compute the missing frequency f; and f, .

Class: 0-20 20-40 40-60 60-80 80-100 100-120 Frequency: 5 f; 10 f5 7 8

o Watch Video Solution

149. The following distribution shows the daily pocket allowance given to

the children of a multistorey building. The average pocket allowance is Rs

18.00. Find out the missing frequency: Class 11-13 13-15 1517 17-
19 19-21 21-23 23-25interval: Frequency: 7 6 9 13
- 5 4

o Watch Video Solution



https://dl.doubtnut.com/l/_f9QuwhkrHq7O
https://dl.doubtnut.com/l/_AtBrj9hUz3GH
https://dl.doubtnut.com/l/_kBUhocJiGDGB
https://dl.doubtnut.com/l/_ANUkzlDQ3Mbm

150. If the mean of the following distribution is 27, find the value of p .

Class: 0-10 10-20 20-30 30-40 40-50 Frequency: 8 p 12 13 10

o Watch Video Solution

151.In a retail market, fruit vendors were selling mangoes kept in packing
boxes. These boxes contained varying number of mangoes. The following
was the distribution of mangoes according to the number of boxes. No.
of mangoes: 50-52 53-55 56-58 59-61 62-64 No. of boxes:

15 110 135 115 25 Find the mean number of mangoes kept

in a packing box. Which method of finding the mean did you choose?

o Watch Video Solution

152. The table below shows the daily expenditure on food of 25
households in a locality. daily expenditure(in rs) 100-150 150-200 200-250
250-300 300-350 no. of households 4 5 12 2 2 Find the mean daily

expenditure on food by a suitable method.



https://dl.doubtnut.com/l/_ANUkzlDQ3Mbm
https://dl.doubtnut.com/l/_fk3KVEPkTS7x
https://dl.doubtnut.com/l/_5mKvonRmGosD

| ° Watch Video Solution

153. To find out the concentrations of SO in the air (in parts per million,
i.e, ppm), the data was collected for 30 localities in a certain city and is
presented below: Concentration of SO, (in ppm) Frequency 0.00 - 0.04 4
0.04 - 0.08 9 0.08 - 012 9 012 - 0.16 2 0.16 - 0.20 4 0.20 - 0.24 2 Find the

mean concentration of SO, in the air.

° Watch Video Solution

154. A class teacher has the following absentee record of 40 students of a
class for the whole term. Find the mean number of days a student was

absent.

° Watch Video Solution

155. The following table gives the literacy rate (in percentage) of 35 cities.

Find the mean literacy rate. Literacy rate (in %): 45-55 55-65 6575 75-


https://dl.doubtnut.com/l/_5mKvonRmGosD
https://dl.doubtnut.com/l/_Vr4UM3PgFHHJ
https://dl.doubtnut.com/l/_e8lpe0IArYhZ
https://dl.doubtnut.com/l/_VCV2t47FnJ3c

85 85-95 Number of cities: 3 10 1 8 3

° Watch Video Solution

156. The following are the marks of 9 students in a class. Find the

median: 34,32, 48, 38, 24, 30, 27, 21,35

° Watch Video Solution

157. Find the median of the daily wages of ten workers from the following

data: Rs 20, 25,17,18,8,15,22,11,9, 14.

° Watch Video Solution

158. Obtain the median for the following frequency distribution: x : 123 4

56789 f:810111620251596

° Watch Video Solution



https://dl.doubtnut.com/l/_VCV2t47FnJ3c
https://dl.doubtnut.com/l/_oQ4lkKe0SHw2
https://dl.doubtnut.com/l/_XaAnNHWW32JO
https://dl.doubtnut.com/l/_i0gVdhhGxUhp
https://dl.doubtnut.com/l/_bpXWIkcYMzGf

159. Calculate the median from the following distribution: Class: 5-10
10-15 15-20 20-25 25-30 30-35 35-40 40-45 Frequency: 5 6

15 10 5 4 2 2

o Watch Video Solution

160. The median of the following data is 525. Find the values of = and y, if
the total frequency is 100.
Classinterval0 — 100100 — 200200 — 300300 — 400400 — 500500 — 600600
Frequency 0 100 2 100 200 5 200 300 x 300 400 12 400 500 17 500 600 20

600 700 y 700 800 9 800 900 7 900 1000 4

o Watch Video Solution

161. If the median of the distribution given below is 28.5, find the value of
x and y . Class interval: 0-10 10-20 20-30 30-40 40-50 50-60 No. of

students: 522015y 5

| ° Wiakt A \NtAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_bpXWIkcYMzGf
https://dl.doubtnut.com/l/_45vRsrDk2B2W
https://dl.doubtnut.com/l/_mczfxXhNF8K2
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162. Following are the lives in hours of 15 pieces of the components of

aircraft engine. Find the median: 715, 724, 725, 710, 729, 745, 694, 699, 696,

712,734,728, 716,705, 719

o Watch Video Solution

163. The following is the distribution of height of students of a certain

class in a certain city:

Height (in cms) 160 — 162 163 — 165 166 — 168 169 — 171 172 — 174
No. of students 15 118 142 127 18

Find the median height.

o Watch Video Solution

164. Following is the distribution of 1.Q. of 100 students. Find the median
1.Q. I. Q. 55-64 6574 75-84 85-94 95-104 105-114 115-124 125-134 135-

144 No. of Students: 1 2 9 22 33 22 8 2 1



https://dl.doubtnut.com/l/_mczfxXhNF8K2
https://dl.doubtnut.com/l/_8yuTiQiAycgK
https://dl.doubtnut.com/l/_DC9cz4Gs987u
https://dl.doubtnut.com/l/_rgsb8ARg4TE0

l ) Watch Video Solution J

165. Calculate the median from the following data: Rent (in Rs.): 15-
25 25-35 35-45 45-55 55-65 65-75 75-85 85-95 No. of Houses: 8

10 15 25 40 20 15 7

o Watch Video Solution

166. Calculate the median from the following data: Marks below: 10
20 30 40 50 60 70 80 No.ofstudents: 15 35 60 84 96

127 198 250

o Watch Video Solution

167. An incomplete distribution is given as follows: Variable: ~ 0-10 10-
20 20-30 30-40 40-50 50-60 60-70 Frequency: 10 20 ?

40 ? 25 15 You are given that the median value is 35 and the


https://dl.doubtnut.com/l/_rgsb8ARg4TE0
https://dl.doubtnut.com/l/_jtct7hXQE6Vr
https://dl.doubtnut.com/l/_3yPAaIShoxgf
https://dl.doubtnut.com/l/_a9GoEavL26L5

sum of all the frequencies is 170. Using the median formula, fill up the

missing frequencies.

° Watch Video Solution

168. Calculate the missing frequency from the following distribution, it
being given that the median of the distribution of 24. Age in years:  O-
10 10-20 20-30 30-40 40-50 No. of persons: 5 25

? 18 7

° Watch Video Solution

169. Find the missing frequencies in the following frequency distribution
if it is known that the mean of the distribution is 1.46. No of accident (x)

01234 5Total Frequency (f): 46 ? 72510 5 200

° Watch Video Solution



https://dl.doubtnut.com/l/_a9GoEavL26L5
https://dl.doubtnut.com/l/_S9ETZ9RlUoMU
https://dl.doubtnut.com/l/_3Ge23rtwgEFC

170. An incomplete distribution is given below: Variable: 10-20 20-30 30-40
40-50 50-60 60-70 70-80 Frequency: 12 30 - 65 - 25 18 You are given that
the median value is 46 and the total number of items is 230. (i) Using the
median formula fill up missing frequencies. (ii) Calculate the AM of the

completed distribution.

o Watch Video Solution

171. The following table gives the frequency distribution of married

women by age at marriage: Age (in years)  Frequency Age (in
years) Frequency 15-19 53 40-44 9 20-
24 140 45-49 5 25-29

98 50-54 33034 32 55-
59 335-39 12 60 and above 2 Calculate

the median and interpret the results

o Watch Video Solution



https://dl.doubtnut.com/l/_AHXU4mcsOUVr
https://dl.doubtnut.com/l/_R23BhqQJ2KHG

172. If the median of the following frequency distribution is 28.5 find the
missing frequencies: Class interval: 0-10 10-20 20-30 30-40 40-50 50-60

Total Frequency: 5 f; 2015 f5 5 60

o Watch Video Solution

173. The median of the following data is 525. Find the missing frequency, if
it is given that there are 100 observations in the data: Class interval
Frequency Class interval Frequency 0 100 2 500 600 20 100 200 5 600 700

f2 200300 f; 700 800 9 300 400 12 800 900 7 400 500 17 900 1000 4

o Watch Video Solution

174. If the median of the following data is 32.5, find the missing
frequencies. Class interval: 0-10 10-20 20-30 30-40 40-50 50-60 60-70 Total

Frequency: f; 5912 f,3240

o Watch Video Solution



https://dl.doubtnut.com/l/_MrQ9TbuRqQWq
https://dl.doubtnut.com/l/_sqwVdhgJOgUH
https://dl.doubtnut.com/l/_2W35SuaHpoEf

175. Compute the median for each of the following data: (i) Marks

No. of students (ii) Marks No. of students Less than 10

0 More than 150 O Less then 30 10 More
than 140 12 Less then 50 25 More than 130 27 Less
then 70 43 More than 120 60 Less then 90

65 More than 110 105 Less then 110 87

More than 100 124 Less then 130 96 More than 90 141
Less then 150 100 More than 80 150

o Watch Video Solution

176. A survey regarding the height (in cm) of 51 girls of class X of a school
was conducted and the following data was obtained: Height (in cm)
Lessthanl140Lessthanl4bLessthan150Lessthanl55bLessthanl160Lesstha:

Number of Girls 4 7 18 11 6 5 Find the median height.

o Watch Video Solution



https://dl.doubtnut.com/l/_TNyHX1pdWuOK
https://dl.doubtnut.com/l/_TCIhCy9BSljr

177. A life insurance agent found the following data for distribution of
ages of 100 policy holders. Calculate the median age, if policies are only

given to persons having age 18 years onwards but less than 60 years.

Age(inyears) Numberofpolicyholders

Below?20 2 Below?25 6 Below
30 24 Below 35 45 Below 40

78 Below 45 89 Below 50 92 Below
55 98 Below 60 100

o Watch Video Solution

178. The lengths of 40 leaves of a plant are measured correct to the
nearest millimetre, and the data obtained is represented in the following
table: Length (mm): 118-126 127-135 136-144 145-153 154-162 163-171 172-
180 No. of leaves: 3 5 9 12 5 4 2.Find the

mean length of leaf.

o Watch Video Solution



https://dl.doubtnut.com/l/_uDnpcTFwtIrl
https://dl.doubtnut.com/l/_npNhmhz7WTYy

179.The following table gives the distribution of the life time of 400 neon

lamps: Lite time: (in hours) Number of lamps 1500 — 2000

14 2000-2500 56 2500-
3000 60 3000-3500 86 3500-
4000 74 4000-4500 62 4500-
5000 48 Find the median life.

o Watch Video Solution

180. The distribution below gives the weight of 30 students in a class.
Find the median weight of students: Weight (in kg): 40-45 45-50 50-55
55-60 60-65 65-70 70-75 No. of students: 2 3 8 6

6 3 2

o Watch Video Solution

181. Find the mode of the following data: 120, 110, 130, 110, 120, 140, 130,

120, 140, 120


https://dl.doubtnut.com/l/_1YQFxELo1paj
https://dl.doubtnut.com/l/_TtWYSfqIw235
https://dl.doubtnut.com/l/_R69Sr1tKX9nV

o Watch Video Solution

182. Compute the modal value for the following frequency distribution: z

:95105115125135145155165175y:4 218222119103 2

o Watch Video Solution

183. The following data gives the distribution of total household

expenditure (in rupees) of manual workers in a city: Expenditure (Rs.)

Frequency Expenditure (Rs.) Frequency 1000-1500 24

3000-3500 30 1500-2000 40 3500-
4000 22 2000-2500 33 4000-4500 16
2500-3000 28 4500-5000 7 Find the average

expenditure which is being done by the maximum number of manual

workers.

o Watch Video Solution



https://dl.doubtnut.com/l/_R69Sr1tKX9nV
https://dl.doubtnut.com/l/_ITMjhGRuHIHN
https://dl.doubtnut.com/l/_ISmwdbXOomL1
https://dl.doubtnut.com/l/_3rkST2bjM7gJ

184. The following table shows the age distribution of cases of a certain

disease admitted during a year in a particular hospital. Age (in years): 5-

14 15-24 25-34 35-44 45-54 55-64 No. of cases: 6 n
21 23 14 5.Find the average age for which maximum cases
occurred.

o Watch Video Solution

185. Find the mode of the following data: (i) 3, 5,7, 4,5,3,5,6,8,9,5, 3,5,
3,6,9,7,4 (i) 3,3,7,4,5,3,5,6,8,9,5,3,5,3,6,9, 7, 4 (iii) 15, 8, 26, 25, 24,

15,18, 20, 24,15,19, 15

o Watch Video Solution

186. The shirt sizes worn by a group of 200 persons, who bought the shirt
from a store, are as follows: Shirt size: 37 38 39 40 41 42
43 44 No.of persons: 15 25 39 41 36 17 15 12.Find the

modal shirt size worn by the group.

. l


https://dl.doubtnut.com/l/_3rkST2bjM7gJ
https://dl.doubtnut.com/l/_DQuAjlTSx0D3
https://dl.doubtnut.com/l/_dC5vL9mYXhKQ
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187. Find the mode of the following distribution: (i) Class-interval: 0-10
10-20 20-30 30-40 40-50 50-60 60-70 70-80 Frequency: 5

8 7 12 28 20 10 10

o Watch Video Solution

188. Compare the modal ages of two groups of students appearing for an
entrance test: Age (in years): 16-18 18-20 20-22 22-24 24-26 Group

A: 50 78 46 28 23 Group B: 54 89 40 25 17

o Watch Video Solution

189. The marks in science of 80 students of class X are given below: Find
the mode of the marks obtained by the students in science. Marks: 0-10
10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 90-100 Frequency: 3 5 16

1213205411



https://dl.doubtnut.com/l/_dC5vL9mYXhKQ
https://dl.doubtnut.com/l/_YMdl9a0AQdTH
https://dl.doubtnut.com/l/_qf15Uu4cNfWq
https://dl.doubtnut.com/l/_0FBdko4B9RP2

| o Watch Video Solution

190. The following is the distribution of height of students of a certain
class in a certain city: Height (in cms): 160-162 163-165 166-168 169-171
172-174 No. of students: 15 118 142 127 18.Find

the average height of maximum number of students.

o Watch Video Solution

191. The following table shows the ages of the patients admitted in a
hospital during a year: Age (in years):  5-15 15-25 25-35 35-45 45-55

55-65 No. of students: 6 11 21 23 14 5 Find the
mode and the mean of the data given above. Compare and interpret the

two measures of central tendency.

o Watch Video Solution



https://dl.doubtnut.com/l/_0FBdko4B9RP2
https://dl.doubtnut.com/l/_mLFel4r54FFv
https://dl.doubtnut.com/l/_rSKn7MIuetgw

192. The following data gives the information on the observed lifetimes
(in hours) of 225 electrical components: Lifetimes (in hours): 0-20 20-40
40-60 60-80 80-100 100-120 No. of components: 10 35 52

61 38 29 Determine the modal lifetimes of the components.

o Watch Video Solution

193. The following data gives the distribution of total monthly household
expenditure of 200 families of a village. Find the modal monthly
expenditure of the families. Also, find the mean monthly expenditure:

Expenditure (Rs.)  Frequency  Expenditure (Rs.) Frequency 1000-

1500 24 3000-3500 30 1500-2000
40 3500-4000 22 2000-2500 33 4000-
4500 16 2500-3000 28 4500-5000 7

o Watch Video Solution



https://dl.doubtnut.com/l/_r1fI7W7aTRTj
https://dl.doubtnut.com/l/_eZ5Pr23M2ASN

194. The following distribution gives the state-wise teacher-student ratio
in higher secondary schools of India. Find the mode and mean of this

data. Interpret, the two measures: Number of students per Teacher

Number of States/U.T. 15-20 3 20-
25 8 25-30 9 30-
35 10 35-40 3 40-
45 0 45-50 0 50-
55 2

o Watch Video Solution

195. The given distribution shows the number of runs scored by some top
batsmen of the world in one-day international cricket matches. Runs
scored 3000-4000 4000-5000 5000-6000 60007000 7000-8000 8000-
9000 9000-10000 10000-11000 No. of batsmen 4 18 9 7 6 3 1

1. Find the mode of the data.

o Watch Video Solution



https://dl.doubtnut.com/l/_AZbz14edjQPA
https://dl.doubtnut.com/l/_AxwjlMDuguMJ

196. A student noted the number of cars passing through a spot on a
road for 100 periods each of 3 minutes and summarised it in the table
given below. Find the mode of the data: Number of cars: 0-10 10-20 20-
30 30-40 40-50 50-60 60-70 70-80 Frequency: 7 14 13

12 20 11 15 8

o Watch Video Solution

197. The following frequency distribution gives the monthly consumption
of electricity of 68 consumers of a locality. Find the median, mean and
mode of the data and compare them. Monthly consump- 65-85 85-105
105-125 125-145 145-165 165-185 185-205 No. of consumers: 4 5

13 20 14 8 4

o Watch Video Solution

198. 100 surnames were randomly picked up from a local telephone

directly and the frequency distribution of the number of letters in the


https://dl.doubtnut.com/l/_Herbj1WGNjoq
https://dl.doubtnut.com/l/_Q6oDbClYsk1A
https://dl.doubtnut.com/l/_Iu9R0KWjrNp3

English alphabets in the surnames was obtained as follows: Number of
letters: 1-4 47 7-10 10-13 13-16 16-19 Number surnames 6

30 40 16 4 4 Determine the median number of
letters in the surnames. Find the mean number of letters in the

surnames. Also, find the modal size of the surnames.

o Watch Video Solution

199. Find the mean, median and mode of the following data: Classes:
0-20 20-40 40-60 60-80 80-100 100-120 120-140 Frequency: 6

8 10 12 6 5 3

o Watch Video Solution

200. Find the median of the following data: Classes: 0-50 50-100 100-
150 150-200 200-250 250-300 300-350 Frequency: 2 3 5

6 5 3 1

o Watch Video Solution



https://dl.doubtnut.com/l/_Iu9R0KWjrNp3
https://dl.doubtnut.com/l/_gVn5CC4B0blf
https://dl.doubtnut.com/l/_DwDCMLx5ej7I

201. The following table gives the daily income of 50 workers of a factory:
Daily income (in Rs): 100-120 120-140 140-160 160-180 180-200 Number
of workers: 12 14 8 6 10 Find the mean, mode

and median of the above data.

o Watch Video Solution

202. Draw an ogive by less than method for the following data: No. of
rooms: 1 2 3 4 5 6 7 8 9 10No.ofhouses: 4 9

22 28 24 12 8 6 5 2

o Watch Video Solution

203. The marks scored by 750 students in an examination are given in the
form of a frequency distribution table: Marks No. of students
Marks No. of students 600-640 16 760-

800 172 640-680 45 800-840 59 680-


https://dl.doubtnut.com/l/_DwDCMLx5ej7I
https://dl.doubtnut.com/l/_wN9hQPskS1pF
https://dl.doubtnut.com/l/_ByZ82AB9yOX4
https://dl.doubtnut.com/l/_cjwaweTWemuN

720 156 840-880 18 720-760
284 Prepare a cumulative frequency table by less than

method and draw an ogive.

° Watch Video Solution

204. Draw an ogive to represent the following frequency distribution:
Class-interval:  0-4 59 10-14 1519 20-24 No. of students: 2

6 10 5 3

° Watch Video Solution

205. The monthly profits (in Rs.) of 100 shops are distributed as follows:
Profits per shop: 0-50 50-100 100-150 150-200 200-250 250-300 No. of
shops: 12 18 27 20 17 6 Draw the frequency

polygon for it.

° Watch Video Solution



https://dl.doubtnut.com/l/_cjwaweTWemuN
https://dl.doubtnut.com/l/_vuWHiBl89Sbl
https://dl.doubtnut.com/l/_4B4z2RLB1Ij6
https://dl.doubtnut.com/l/_JlJ3fT1lSaK2

206. The

Height

21
35

49

following  table  gives

26 Less than 14
92 Less than 28
216 Less than 42

341 Less than 56

than’ ogive and ‘more than’ ogive.

the height of trees:
No. of trees Less than

57 Less than

134 Less than

287 Less than

360 Draw ‘less

o Watch Video Solution

207. The following distribution gives the daily income of 50 workers of a

factory: Daily income (in Rs): 100-120 120-140 140-160 160-180 180-200

Number of workers: 12 14

8 6 10 Convert

the above distribution to a less than type cumulative frequency

distribution and draw its ogive.

o Watch Video Solution



https://dl.doubtnut.com/l/_JlJ3fT1lSaK2
https://dl.doubtnut.com/l/_588G9KGSQ20K

208. The following table gives production yield per hectare of wheat of
100 farms of a village: Production yield 50-55 55-60 60-65 6570 70-
75 75-80 in kg per hectare: No. of farms: 2 8 12

24 38 16 Draw ‘less than’ ogive and ‘more than’ ogive.

° Watch Video Solution

209. Define mean.

° Watch Video Solution

210. What is the algebraic sum of deviations of a frequency distribution

about its mean?

° Watch Video Solution



https://dl.doubtnut.com/l/_l67dZwa7WzeI
https://dl.doubtnut.com/l/_RkFG0FIV96RW
https://dl.doubtnut.com/l/_IZLz5x2hTngr

211. Which measure of central tendency is given by the = -coordinate of

the point of intersection of the more than ogive and less than ogive?

° Watch Video Solution

212.1n Figure, the value of the median of the data using the graph of less

than ogive and more than ogive is 5 (b) 40 (c) 80 (d) 15

° Watch Video Solution

213. Write the empirical relation between mean, mode and median.

° Watch Video Solution

214. Which measure of central tendency can be determined graphically

° Watch Video Solution



https://dl.doubtnut.com/l/_s9GygMHvpXkJ
https://dl.doubtnut.com/l/_0NoMfHEBBTto
https://dl.doubtnut.com/l/_oRvvJQmkeO0G
https://dl.doubtnut.com/l/_VWU5oC14rcvo
https://dl.doubtnut.com/l/_wLAsbQMzHtIX

215. Write the modal class for the following frequency distribution: Class-
interval: 10-15 15-20 20-25 25-30 30-35 35-40 Frequency: 30

35 75 40 30 15

° Watch Video Solution

216. A student draws a cumulative frequency curve for the marks obtained
by 40 students of a class as shown below. Find the median marks

obtained by the students of the class. (FIGURE)

° Watch Video Solution

217. Write the median class for the following frequency distribution:
Class-interval: 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80

Frequency: 5 8 7 12 28 20 10 10

° Watch Video Solution



https://dl.doubtnut.com/l/_wLAsbQMzHtIX
https://dl.doubtnut.com/l/_FMmoGBPXJhk8
https://dl.doubtnut.com/l/_kW4New9rnWZd
https://dl.doubtnut.com/l/_TMRuZ9i5vDaA

218. In the graphical representation of a frequency distribution, if the
distance between mode and mean is k times the distance between

median and mean, then write the value of k.

° Watch Video Solution

219. Find the class marks of classes 10-25 and 35-55.

° Watch Video Solution

220. Write the median class of the following distribution: Classes: 0-
10 10-20 20-30 30-40 40-50 50-60 60-70 Frequency: 4 4

8 10 12 8 4

° Watch Video Solution

221. Which of the following is not a measure of central tendency? (a)

Mean (b) Median (c) Mode (d) Standard deviation



https://dl.doubtnut.com/l/_TMRuZ9i5vDaA
https://dl.doubtnut.com/l/_g1x64SXVj1aK
https://dl.doubtnut.com/l/_GWo5YA0Qd4rc
https://dl.doubtnut.com/l/_uentM4RNTrp7

| ° Watch Video Solution

222. Prove that "The Algebraic Sum of deviations from Mean is zero".

° Watch Video Solution

223. For a frequency distribution, mean, median and mode are connected
by the relation (a) Mode = 3 Mean - 2 median (b) Mode = 2 Median - 3

Mean (c) Mode =3 Median - 2 Mean (d) Mode =3 Median + 2 Mean

° Watch Video Solution

224. Which of the following cannot be determined graphically? (a)

Mean (b) Median (c) Mode (d) None of these

° Watch Video Solution



https://dl.doubtnut.com/l/_uentM4RNTrp7
https://dl.doubtnut.com/l/_dpCiGTkvcAgm
https://dl.doubtnut.com/l/_BlpXKWrKLu3K
https://dl.doubtnut.com/l/_NrfuhdCYMFQ8

225. The median of a given frequency distribution is found graphically
with the help of (a) Histogram (b) Frequency curve (c)

Frequency polygon  (d) Ogive

° Watch Video Solution

226. The mode of a frequency distribution can be determined graphically
from (a) Histogram (b) Frequency polygon (c)

Ogive (d) Frequency curve

° Watch Video Solution

227. Mode is (a) least frequent value (b) middle most value (c) most

frequent value (d) None of these

° Watch Video Solution



https://dl.doubtnut.com/l/_mCJFhblsOXdS
https://dl.doubtnut.com/l/_UhSZY1pULVI6
https://dl.doubtnut.com/l/_iMHY0oaDRBbv

228. One of the methods of determining mode is (a) Mode = 2 Median - 3
Mean (b) Mode =2 Median + 3 Mean (c) Mode = 3 Median - 2 Mean (d)

Mode =3 Median + 2 Mean

° Watch Video Solution

229. If the mean of the following distribution is 2.6, then the value of yis

Variable (z) : 123 4 5 Frequency (y) : 45y 12(a) 3 (b) 8(c) 13 (d) 24

° Watch Video Solution

230. The relationship between mean, median and mode for a moderately
skewed distribution is (a) Mode = 2 Median - 3 Mean (b) Mode = Median

- 2 Mean (c) Mode = 2 Median - Mean  (d) Mode =3 Median - 2 mean

° Watch Video Solution



https://dl.doubtnut.com/l/_p7j8OB5HnljI
https://dl.doubtnut.com/l/_0zn4Nbvyw8D9
https://dl.doubtnut.com/l/_y2Cuuj1ayBpy

231. The mean of a discrete frequency distribution z; / f;; i = 1, 2, ; nis

. > fims N 2t = Infiz;
- . d
given by (a) ST, (b) - ;fzxz (c) i = Tna, (d)
Y1 = Infix;
S i = Ini

° Watch Video Solution

232.If the arithmetic mean of x, x + 3, £ + 6, « + 9, and = + 12 is 10,

thex = (a)1(b)2(c)6(d) 4

° Watch Video Solution

233. If the median of the data: 24, 25,26,z + 2, x + 3, 30, 31, 34 is 27.5,

then z = (a) 27 (b) 25 (c) 28 (d) 30

° Watch Video Solution



https://dl.doubtnut.com/l/_jpBCfHukuhur
https://dl.doubtnut.com/l/_fhPXXvXT88mX
https://dl.doubtnut.com/l/_m0S9Sd4wkYit

234.If the median of the data: 6,7, z — 2, x, 17, 20, written in ascending

order,is 16. Then £ = (a) 15 (b) 16 (c) 17 (d) 18

° Watch Video Solution

235. The median of first 10 prime numbers is (a) 11 (b) 12 (c)

13 (d) 14

° Watch Video Solution

236. If the mode of the data: 64, 60, 48, =, 43, 48, 43, 34 is 43, then

z + 3 = (a) 44 (b) 45 (c) 46 (d) 48

° Watch Video Solution

237. If the mode of the data: 16, 15, 17, 16, 15, =, 19, 17, 14 is 15 ,

then z = (a) 15 (b) 16 (c) 17 (d) 19

| e |


https://dl.doubtnut.com/l/_i40AJofCZcDU
https://dl.doubtnut.com/l/_VnGCK2DuLHB2
https://dl.doubtnut.com/l/_LBQzZgzCDRDp
https://dl.doubtnut.com/l/_RCpXwBc4agOm

| & Watch Video Solution I

238. If the mean of a frequency distribution is 81 and

> fim;=132+5k Y fi=20,thenk = (a)3(b)4(c)5(d)6

° Watch Video Solution

239. If the mean of 6, 7, =, 8, y, 14 is 9, then (a) z +y = 21 (b)

r+y=19Cx—y=19d)x —y =21

° Watch Video Solution

+1 n—1

n
240. The arithmetic mean of 1, 2, 3, ...n is (a)

n
—+1
2+

° Watch Video Solution



https://dl.doubtnut.com/l/_RCpXwBc4agOm
https://dl.doubtnut.com/l/_sB60QvryvfD5
https://dl.doubtnut.com/l/_T4kbCmCqmqGq
https://dl.doubtnut.com/l/_lElll4mVC9Fm

241. If the mean of first n natural numbers is Tn ,thenn = (a) 5 (b) 4 (c)

9(d) 10

° Watch Video Solution

242. The arithmetic mean and mode of a data are 24 and 12 respectively,

then its median is (a) 25 (b) 18 (c) 20 (d) 22

° Watch Video Solution

n+1
2

243. The mean of first n odd natural number is (a) (b) % (c) n (d)

n2

° Watch Video Solution

2
244.The mean of first n odd natural numbers is % ,thenn = (a) 9 (b)

81(c) 27 (d) 18



https://dl.doubtnut.com/l/_yaRgGi1XLAIV
https://dl.doubtnut.com/l/_VoLpeBmfP1Bt
https://dl.doubtnut.com/l/_MNU3G6vBx78Q
https://dl.doubtnut.com/l/_Q35qD5cYW6Og

| Y Watch Video Solution J

245. If the difference of mode and median of a data is 24, then the

difference of median and mean is (a) 12 (b) 24 (c) 8 (d) 36

° Watch Video Solution

246. If the arithmetic mean of 7, 8, z, 11, 14is x ,then z = (a) 9 (b) 9.5

(c)10(d) 10.5

° Watch Video Solution

247. If mode of a series exceeds its mean by 12, then mode exceeds the

median by (a) 4 (b) 8 (c) 6 (d) 10

° Watch Video Solution



https://dl.doubtnut.com/l/_Q35qD5cYW6Og
https://dl.doubtnut.com/l/_dTWmSm0ZioCl
https://dl.doubtnut.com/l/_yuBxCBebsdX7
https://dl.doubtnut.com/l/_dViAH2UDg9K9

248. If the mean of first n natural number is 15, then n = (a) 15 (b) 30 (c)

14 (d) 29

° Watch Video Solution

249. If the mean of observations =, xs, ...., x, is € , then the mean of

r; +a, s+ a, ..., mn—lrais(a)am(b)x—a(c)a:—lra(d)%

° Watch Video Solution

250. Mean of a certain number of observations is x . If each observation is
divided by m(m # 0) and increased by n , then the mean of new

observation is (a) z + n (b) z +m(c)x + i (d)z + m
m n m n

° Watch Video Solution



https://dl.doubtnut.com/l/_OdKpeuPTMd7A
https://dl.doubtnut.com/l/_qH3vWZQiAmNM
https://dl.doubtnut.com/l/_kiSY9UQhy8oM

